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st T TR ATE 3yt & gEame
Roll No. of Candidate Candidate’s Signature
Irygftat & fore areraer / Instructions to the Candidates

TreT-T ST GREcTeRT & ®9 H ¢ | T 3t r frefiRor @aArer yeal & HTUR 9X AT SIEE| / The question paper s in
the form of test booklet. All candidates will be assessed on identical questions.

Tl TEGfRTSS e & HI STET @] & W6 3R / 27 3iiehs @it 5 el Rhed (9, (), (3 siR@) Ruae I zaad
e TF & T § IR HE 39YFA Ieck FT 9 [RAT S| / Each objective question is provided with a text and/or

figures wherever applicable with multiple answer choices (A), (B), (C) and (D). Only one among them is correct and
most appropriate answer shall be selected.

Tl e feTss e & WY ek & fore FAT 3 — et § 3R Wl arerer 3ear & forw v gt A9rdla siem s el / Al

objective type questions carry equal marks of THREE for a correct answer and One third negative mark will apply for
each wrong answer.

TFH T2 & T 39 3o & UX 3HF! el Sca AT S| / Multiple answers for a question will be regarded as
a wrong answer.

3T & & T galy 31 i Us 376l 3UHAR 3eak OF Yol foRAT 3T §1 / A separate OMR answer sheet is
provided to all candidates for answering.

AR 97 T 7T 3regeell Y emergden 9| HTANR 07 W foreet 3R Tt 359G 3cell A1 RAfgaa #et & forw
Fae dict ST UeT (Nell/aTel)) T W= | / Read the instructions on the OMR sheet carefully. Use only Ball Point
Pen (Blue/Black) for writing on OMR sheet and marking the most appropriate answer.
mag%mﬁ@ra%ﬁ&ﬁtwé?mwgmﬂmﬁmﬁméﬁﬁﬁﬁ%l =0 M &7 § ANTHIR fe & aira W
fordt 3R 3R T F 9T | THT 7 T W el T T HoAlhed gl fehaT S| / Question booklets have been

marked with A or B or C or D or E on the right side top comner, which is mandatory to be written on the OMR sheet in
the box and bubble appropriately, failing which, the answer sheet will not be evaluated.

gTerifen e aTfay & 31T IRREaT W ST & §, R ofr 37 e e Aecaqut & o Furderg qermdy §9 & 39 w5
:mu‘mﬁlEﬁmmﬁvagaagm%wwaaﬁaaﬁlmmmﬁwwaﬁ%&ﬁ?mﬁmw

Q¥ 999 37T T ¢ | / Although the test stresses on accuracy more than speed, it is important for you to use your time as

effectively as possible. Do not waste time on questions, which are too difficult for you. You can go on to other questions
and come back to the difficult ones later.

I 3Taea g o YR 7 STeR TR I Fear H AT ST Fehll 1 36 forw 3rerer effe a7t & Sreair] / Space
available in the booklet could be used for rough work, if required. No separate sheet will be provided.

. TR 98T FaTed 8 W, HTHIR Sear GREasT I I & dea e § B1S 3R Fe7 3EANR Seal TReceh i lrereh
Y T gEdr ufer 379 91 W | / On completion of the Written Test, tear the OMR Answer Sheet at the perforation mark
at the top and hand over the original OMR Answer Sheet to the invigilator and retain the duplicate copy.

. eI FATST B W (1) PR ot S o7 e oX wieY Raerar war § 3 (2) e sear o forderes #r die § s
et oY TRRYTY & st = W 7 & AW | / At the end of the test (1) Written Test Call Letter(s) with

photograph pasted on it and (2) OMR Answer Sheet should be handed over to the invigilator and shall not be
carried by the candidate under any circumstances.
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TesT 9f3T F15 / Question Booklet Code

01. & TATT G@RT ATTEATAY ST T 8

Thermostat function by sensing

(A) cId/ Pressure (B) dr9ATT / Temperature

(C) warg/ Flow (D) a1fcr/ Speed

02. Tfaf@a#® ol ar arue. . weids g7

Which one of the following is a CFC refrigerant?

(A) R744 (B) R290
(C) R502 (D) R718
03. aroifeas RH GaT & AT T F ERICEDET RIS

Commonly used refrigerant in commercial ice plant is

(A) CO, (B)  fR3ifeT 12/ Freon 12
(C)  3t=iferar / Ammonia (D) darg/Air
04. arg-4rdeh & ®7 H FIH T T & / An air washer can work as
(A) 3T / Humidifier (B) TeRIEf#Re / Dehumidifier
(C) ThecX/ Filter (D)  3URIeT & @/ All of the above

aEARITe A7 (Fefiee  ararTges) / Tech ‘B’ (Ref. & AC) — 2018 — JTEHIH / IPRC
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05.  ddezeiicel gfshar &, w7t hr AT

In sensible cooling process, the moisture content

(A) ®=TArg/ Decreases

(B) ®oedrg/Increases

(C) TR IETE/ Remains constant

(D) 3WRIFT H & HIS =61 / None of the above

06. 3T AISHIFICI T SEAHTS HT A= & fow R srar &

Sling psychrometer is used to measure

(A) el S Toel T9#HTeT / Only dry bulb temperature

(B)  hael TS S Ty / Only wet bulb temperature

(C) I~ 3R 377 e« arg#TeT / Dry and wet bulb temperature
(D)  3MAf&e 3MEAT / Relative humidity

07.  fQ# T HaTel=T I[oct HSAT % / Latent heat of fusion of ice is

(A) 335kJkg (B) 835 kJ/kg

(C) 555 kJ/kg (D) 3URIad & T/ All of the above
08. 5@ Jae T ¥ o T SN § TS e & aRacier &1 wfr 3

Process of changing solid into vapour state without passing through liquid state is

(A) FIU/ Boiling (B) FEdurdsT/ Sublimation

(C) 319 <fideT/ Sub cooling (D) THIFIUT/ Freezing

eI dr (wfieT T arareigere) / Tech ‘B’ (Ref. & AC) — 2018 — AT / IPRC




09.

10.

1.

12.

g9 g3 #15 / Question Booklet Code| A

Tehier 12T & UeTeT ST ATIHT TeF 1237 dor & foT 31aeder FSAT & RATT Y Hgl ST &

Amount of heat required to raise the temperature of unit quantity of substance through one degree is called:

(A) d€rérg /CT.U. (B) &y, /B.T.U.
(C) aRT/ Calorie (D) fafRrsc FvAT/ Specific heat
NICEIRIGEEDE gfsRar §/ The process in winter air conditioning is

(A)  3T=ETeHTOT / Dehumidification

(B) YT TTT 3TGE0T / Heating and humidification

(C)  3MEfeTT / Humidification

(D)  <freIsT AT AATGROT / Cooling and dehumidification

& G a1 TN G R GTed FHIe FLAT ¢

A thermostatic expansion valve function with

(A) TuUTCre/ Suction pressure (B) fagsteT &1e / Discharge pressure

(®) fageleT aT9=TsT / Discharge temperature (D)  9YUT dT9HATeT / Suction temperature

TR31TeT w=iicieh & &ROT & AT H §eNSS i ShT SaTel &l T ¥ geel ST

The colour of the flame of halide torch in case of leakage of Freon refrigerant will change to

(A) St/ Purple (B)  elsT/ Pink
(C) T#ehTeT 8 / Bright green (D)  =ireI / Blue

awenfRrge < (wfiee g ararggerst) / Tech ‘B’ (Ref. & AC) — 2018 — 3TEHIREH / IPRC 5
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14.

15.

16.

72T i3 13 / Question Booklet Code

31 2T, arsg gdigsT wRitae a5 & geiide i T ggor Nt e T ufHar g

Sub cooling is a process of cooling the refrigerant in vapour compression refrigeration system before:

(A)  drsdreRtuT / Evaporation (B)  3WRIEr/ Throttling
(C) ¥u«A«T / Condensation (D) gdIs=T / Compression
Yo oo AT X 31TE Tod dgATT & &g & 3ic] Al %gT ST & / The difference between Dry

Bulb Temperature and Wet Bulb Temperature is called

(A) 3T Sod 37d=TaT / Wet bulb depression
(B)  3irdieh 371d=1# =T / Dew point depression
(C) 9#Er a1v / Effective temperature

(D) ﬁ?—jﬁ??—m/ Saturation temperature

IMATETR 3TTeaT Il o1eTTe & TIT 39T fohT STTaaTel 3USOT §;

A device which is used to find relative humidity:

(A)  GIETaRATr / Manometer (B) dTIATIT/ Thermometer
(C) 3ScoeladsicadTdT / Hydrometer (D) 3G / Hygrometer
OR3iTaT 22 1 TErafas A1 & / Chemical name of Freon 22 is

(A)  STSFART 33T 71 &= / Dichloro difluoro methane

(B)  FHi=ieFeiRT fSI3IRT #1T / Monochloro difluoro methane
(C) CISFARY Aol HideT / Trichloro monofluoro methane
(D)  STSFART ATAF[3 FY=T / Dichloro monofiuoro methane

aaeitraer ‘A (wefierer F araregges) / Tech ‘B’ (Ref. & AC) — 2018 — STEHIARAT / IPRC




17.

18.

19.

20.

gesT gfeT 18 / Question Booklet Code

3iTer SmieT gaRT HaTferd § / Auto defrost is operated by

(A)  dITS9z gw@T / Evaporator fan (B) Tufad/ Condenser
(C) <frddeR / Cooler (D) g *fcsh / Chiller
TSN &I 37 AT Tl 3 1T Y e &

Sum of atmospheric pressure and gauge pressure is called

(A)  Efed & / Saturation pressure (B) IuT¥ g9 / Absolute pressure
(C) wH™AYT &Ig / Normal pressure (D)  EareTTideh &1« / Natural pressure
AT faed el YOR dled H 997 FT9HI F EaRT Hafed forar Srar §

In a thermal electric expansion valve senses the suction temperature

(A) TEWER / Transformer (B) anfi¥ex/ Thermistor

(C) uréRraHex / Potentiometer (D) RIEET/ Rheostat

aifsus & welider e g1 T1fev / Pressure of refrigerant in the evaporator should be ___

(A) drgHSET ad % s / Equal to the atmospheric pressure
(B) dgHSH &§ ¥ 4/ Less than the atmospheric pressure
(C) argHselrr &1 & 31fer / Greater than the atmospheric pressure

(D) 3RIFd & J HIS &7 7T / None of the above

aFREs A (72fiae T ararge) / Tech ‘B’ (Ref. & AC) — 2018 — 3TSHISIRET / IPRC




21.

22.

23.

24.

e 9f3T 15 / Question Booklet Code

TH 3TS. SHIS &, Teh &l ol TRl FHEWELE

In S.1. unit, one ton of refrigeration is equal to

(A) 210 kd/minute (B) 21 kd/minute
(C) 420 kJ/minute (D) 840 kJ/minute

TRicTeh 3 AT &l SaRT geT f&ar SIrar § / The moisture in a refrigerant is removed by

(A) @ISz / Evaporator (B)  @vel farae ared / Safety relief valve

(C) feRIEfAR® / Dehumidifier (D) [~ / Driers

Hifieh dTIHATsT 9g 9T § Tt 3R : / Critical temperature is the temperature above which:

(A) 3T Fer gfaa s1gr g / a gas will never liquify
(B) 3T dcerrel gfad 8191 / a gas will immediately liquify
(C)  Ter aIfSue g SITWaTr / water will evaporate

(D)  STeT T aTTSUA 181 gi9T / water will never evaporate

gaTS SIgTST & WA= & AR R e af@d weiiaes &7 sTaaTe id §:

Refrigeration in aeroplanes usually employs the following refrigerant:

(A) CO; (B)  fIR3ifar -11 / Freon-11

(C)  fR3iTeT -22 / Freon-22 (D) @/ Air

dwaiRrge & (Feftds g ardaregere) / Tech ‘B’ (Ref. & AC) — 2018 — 3T$HI3MR / IPRC




25.

26.

27.

28.

s gf3eT I8 / Question Booklet Code

B TN & O oIE & dF 4

The bank of tubes at the back of domestic refrigerator are

(A) gafold €4« / Condenser tubes

(B)  dIfoy= e / Evaporator tubes

(C) Wi <ficTelsT I8 / Refrigerant cooling tubes
(D)  fRYer €I / Capillary tubes

arq GdiseT ek # 3o d9HAT W garg
The higher temperature in vapour compression cycle occurs at

(A)  3ITHIET / Receiver (B) WHR dled / Expansion valve
(C) arfSu=/ Evaporator (D) Hdiss adetsT / Compressor discharge
arsq Hrse =gk 3 €371, T He AR | g

The value of COP in vapour compression cycle is usually

(A)  &HUT Tk ¥ & / always less than unity

(B) &HIT Ueh ¥ AW / always more than unity
(C) U §XIsR / equal to unity

(D) 3YRIFd H & IS Tah / any one of the above

=T 7 GaeteT drIATT & A9 BidT 8-
Condensing temperature in a refrigerator is the temperature:

(A) 2l ATETH =7 / of cooling medium

(B) fe#i® &1F &I/ of freezing zone

(C) arfSuF &1/ of evaporator

(D) foF W wias 3 gfad giar § / at which refrigerant gas becomes liquid

aFeAIRIge ‘dr (wefiaeT  arar@ers) / Tech ‘B’ (Ref. & AC) — 2018 — JTSHISMT / IPRC




29.

30.

31.

32.

gesT T %15 / Question Booklet Code

TR YR & 2lided dF & 3rfaar ster &l w2iides & & 7 Y3197 fFar Srar g:

Aqua ammonia is used as refrigerant in the following type of refrigeration system:

(A) §dISsT / Compression (B)  9cIsT/ Direct
(C) RIeT/ Indirect (D)  37@29uT / Absorption
wRiieT T% 3, TRiideh & 9aTg &l garT AT R ST

In a refrigeration cycle, the flow of refrigerant is controlled by

(A) EdSeh / Compressor (B) @ufa¥/ Condenser
(C) arfSu=/ Evaporator (D) 9IR dled / Expansion valve
S=cTeh T BR3iTeT g & / Freon group of refrigerants are

(A) SdcreAeiler / Inflammable
(B) fa¥erm/ Toxic
(C) 3rsgd=reiTer vg fader / Non-inflammable and toxic

(D) ferifalY g 3rege=iRiier / Non-toxic and non-inflammable

Afafed 7 & i & weiids 7 Hwrds fais g2

Which of the following refrigerants has lowest freezing point?

(A)  fR3ieT-12 / Freon-12 (B) NHs

(C) CO2 (D) fR3iA-22 / Freon-22

aFehie &Y (veftaer T arargee) / Tech ‘B’ (Ref. & AC) — 2018 — TSN / IPRC
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33.

34.

35.

36.

2T U3 His / Question Booklet Code

AT 30T T &3 HT SIS & / Unit of rate of heat transfer:
(A)  Sfef/ Joule (B) drc/Watt
(C) Yr&hel / Pascal (D) =gceT/ Newton

tferehrer el FRN e feesfaf@d weliaet o 9X e X &

Most of the domestic refrigerators work on the following refrigeration system:

(A)  arsq gYIST / Vapour compression (B)  @TST 31@2MYUT / Vapour absorption
(C) =l Tsh / Carnot cycle (D)  Serargrererd YeeX / Electrolux refrigerator
ABOR Sl TISH H STAATS fohaT S7aT §, 5T & I HHA HL Toh

Mufflers are used in compressor to reduce the

(A) 2R/ Noise (B) @I/ Pressure
(C) dM9YHTT / Temperature (D)  2fiders / Cooling
GESSIGEPIGE T Teh K & / Wire mesh condenser is a type of

(A)  arg Mfde deafa=r / Air cooled condenser
(B)  Stor <N TWafers / Water cooled condenser
(C) &ERA / Capacitor

(D) aTS9a/ Evaporator

ashetirae ‘A (Fefide F ararggee) / Tech ‘B’ (Ref. & AC) — 2018 — 3médiam / IPRC

11




g9 9f¥aT F12 / Question Booklet Code| A

37. sk daTH fg#HIeh 81T T1fgT / Compressor oil should have freezing point
(A) e/ low (B) 3=a/high
(C)  wgeEm/ multiple (D) FWIAFS T 56T / None of above

38. ORUT A & Udh YR &I A1H 52 / Name one type of induction motor?

(A)  Treredy 9rer Hiex / Squirrel gauge motor (B)  2ic AIEX / Shunt motor

(C) it Hiex / Series motor (D) & AT/ Compound motor
39. oI fqAITT aTeq S TIET YT & § 7 el & aH & v 3udier fHar Siar g, S« e gr /
Pressure relief valve is used as a safety device to vent fluid when is more
(A) ard/ Pressure (B) dMHHTST / Temperature
(C) warg/ Flow (D) 1T/ Speed
40. T ST & [T oot &2 i ST J=A19T AT ST & / Oil sight glass is used to view
(A) HdIS® Ol €I / Compressor oil level (B)  ueiicier TX / Refrigerant level
(C) &S gIe / Compressor pressure (D) aIfSu= gIe / Evaporator pressure

aeRIe ‘df (wRifee T aTargEee) / Tech ‘B’ (Ref. & AC) - 2018 — TSI / IPRC 12




41.

42.

43.

44,

92T gT3T 18 / Question Booklet Code

HITT W FelT T ZEIATT IR Tolld I geIT 511 FI AT & v frar srar g

Clamp on meter is used to measure without removing wire sleeve

(A) G/ strength (B) ©RT/current

(C) dreear/ voltage (D) wfeRIer/ resistance

geToT &I T T AT & / Test lamp does the function of

(A)  3ffafEsesTar ot / Continuity tester (B) WHIRT/ Ammeter

(C) dre #eT/ Watt meter (D) e HeX / Energy meter

ST aRNTAT % Jrafdieh el i ot 3 gfades o F S draear ¥

Step up transformer has number of turns in secondary winding than primary winding

(A) 378 / more (B) @/ less

(C) dgr/same (D) 3URIFd H q FIs &Y 7T / None of the above

il HT $-HFTehsT T YR =T8T &7 / Which is not a type of earthing?

(A) ToIc/ Plate (B) 4sY/ Pipe

(C) ®3/Rod (D) d=/Wedge

awage & (RiFe T arargEes) / Tech ‘B’ (Ref. & AC) — 2018 — TSR / IPRC

13




45,

46.

47.

48.

w2aT 9T 18/ Question Booklet Code

=TT 3 & HieT AT &1 I ShlS 78T &2

Which one of the following is not the unit of pressure?

(A) Y/ Pascal (B) N/m?

(C) &/ bar (D)  fedst [ Kelvin
97 & gRade $r e % / Rate of change of velocity is

(A)  <aXoT / Acceleration (B) 91fcY / Speed
(C) fawurg«T / Displacement (D) &I/ Distance

IR ST & OX Uas TRl 3T $7IR &THAT T SRl §U 2ea §

The term indicating the load carrying capacity of a system beyond the actual load

(A)  ET&TT IUTeh / Factor of safety (B) @MY 9[UTeh / Strength factor

(C)  =ieT 99T / Stretching factor (D) 3WIFd H & &g a1 / None of the above
T Sl a] i 1Tt b ferem & o & s AT B

The force of friction acts in a direction to the direction of motion of object.

(A) 3T/ same (B) fawlid/ opposite

(C) iedd / perpendicular (D)  3rMeEr/ downwards

aweRae Y (wfiae @ ardrg®es) / Tech ‘B’ (Ref. & AC) - 2018 - TSYIEmAT / IPRC
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49.

50.

51.

52.

gesT YT F15 / Question Booklet Code

fSg, SeTarg sl asT v A S, H__ &grolarg

Point where all weight of object acts is called

(A) g fsig/ Centre point (B)  %cd g / Center of gravity

(C) R /Edge (D) FUX T HIS =81 / None of the above
R ] T o e, % faeRer R AR aar g

Center of gravity of an object depends on the distribution of

(A) R/ Weight (B) @cIATT / Mass

(C) Helcq / Density (D) 3R/ Shape

feFTerfae & & hlet & o 3 et Sreporiie 3 1R Sl Sctest X Fehell B2

Which of the following system can generate more energy in industrial applications?

(A) &aF dF R¥cd / Hydraulic systems

(B) drfdel &= / Pneumatic systems

(C) Il o Ueh gT Foll 3cUest il & / Both systems generate same energy
(D)  9Renf¥er 8T fomar ST |ehalT / Cannot be defined

T 31e7dTeT #4782 / What is meant by gear ratio?

(A)  Tferae arf iR 312 317y T 31eq9TeT / The ratio of pinion speed and gear speed
(B) o=t 71fcY 3R 3= a1fcY AT 3fUTeT / The ratio of low speed and high speed

(C) & (A) 31 (B) / Both (A) and (B)

(D) 3IWRIFd H A FIg HT 7IET / None of the above

ettt A7 (wfideT & ardtelgere) / Tech ‘B’ (Ref. & AC) — 2018 — 3médfiam / IPRC
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53.

54.

55.

56.

we If®T #18 / Question Booklet Code

doc & T SEIHATST S STy arely Frealy RAEUEIRY

The material used for belts must be

(A)  HaIE / Strong (B) oI/ Flexible

(C) fehrZ/ Durable (D) 39U |3/ All of the above

AT 3R I fore=ATafere 7 & shlsr |1 07 e gher &2

Which of the following property is affected by heat treatment?

(A) SORdr/ Hardness (B) &Y/ Strength

(C) T=gar/ Ductility (D)  3WRrerd T/ All of the above
3T " r'* & |1 Teh g T &TThel &/ Area of a circle with radius 'r’ is

(A T B)

(€ 2w’ (D) T

T 3 &1 T@TC, St et off fRig o) vk g T gfcresie a1 w9l gt el §, T STl § / Two lines

in a plane that do not intersect or touch each other at any point said to be

(A) GAWIAI/ Parallel (B) <iwad / Perpendicular

(C) 3uRierd §aiT/ All of the above (D)  3udFd & ¥ IS w7¢T / None of the above

iRt dr (wefiet @ araregerst) / Tech ‘B’ (Ref. & AC) — 2018 — 3TN / IPRC
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57.

58.

50.

60.

2T 9fA%T F15 / Question Booklet Code

ATl 31RW 7, sind ¢/ In the following diagram, sin® is

b
z
X
8

a Y c
(A Xz (B) Yiz
(C) X (D) zZIX
arer 1 sRifde 35T o ST ST ¥ F 3TN R ST &/

Copper is widely used in refrigeration industry due to

(A)  oITelTasT / Flexibility

(B)  gehrIdT / Workability

(C)  3=g AT dlelehd / High thermal conductivity
(D) 39RIFd T/ All of the above

et & & wlet ar sitfoes apor 781 §2

Which one of the following is not a physical property?

(A) di TS / Tensile strength (B) oXrHa @AY / Yield strength

(C)  YcIrEy HIHAT / Elastic limit (D) SacIeTRATeIAT / Flammability

S a1sH #, e & oI TWT ST § / In bench vice, job is placed between

(A) SIS3t/ Jaws (B) Udl/Screws

(C) @eldi/ Clamps (D) 3WIEd H ¥ FIS & 7T / None of the above

aeiiirge & (wfde F araregsen) / Tech ‘B’ (Ref. & AC) — 2018 — 3mEdian<#t / IPRC
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